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St XAAME SRS EERED
- _ _ RE]
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= 840
o= 105
= 105
01 AP 22| H| 1,050 0 1,050
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01 MEIBEE 2063 3,250 3,250 0
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SH: FOIMEXAD
Mz J0JZMESH (A ESX/IZMEEH)
e MASES JI=dMEE8d (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
| | | < 60
HNASE MEOHAEX (AR /I ZMHEZE) 1,392,959 1,683,707 A 290,748
= 1,000,635
& 107,930
= 284,394
NE=PNEE] 1,051,000 1,352,244 A 301,244
= 841,000
& 76,600
= 133,400
NEZZ ALY 920,000 1,118,992 A 198,992
= 736,000
& 73,600
= 110,400
201 LBt 8,965 11,200 N2,235
= 7,172
= 717
= 1,076
01 AP 22| H| 8,965 11,200 N2,235
OXNEZZANE A28 2¢
441 ,250) 42 D| 1,765
= 1,412
& 141
= 212
OXEZ22AMY 29 (SH) 1,200,000+ H 7,200
= 5,760
o= 576
= 864
301 et A= 202,555 204,000 A 1,445
= 162,044
=} 16,204
= 24,307
11 JIEtE &2 202,555 204,000 A 1,445
OXEZ2ZANY (FHZ2EY) Ba
3,340 x33&H x250 192,555
- 154,044
o 15,404
= 23,107
OXEZ2ZAYE M. DE2E2E2
200,000, 000& *5% 10,000
= 8,000
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= 1,200
307 QI2t0| & 708,480 903,792 A 195,312
= 566,784
= 56,679
= 85,017
05 QIZ2tE 2 708,480 903,792 N 195,312
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= 566,784
< 56,679
e 85,017
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= 33,000
< 3,000
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301 LEtE A= 41,000 129,752 A 88,752
= 33,000
< 3,000
s 5,000
01 MEIBZ X063 41,000 129,752 A 88,752
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= 33,000
= 3,000
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s 18,000
301 et A=z 90,000 103,500 A 13,500
= 72,000
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NAXadye 249 311,959 301,463 10,496
= 159,635
< 31,330
s 120,994
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= 125,153
s 53,637
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s 53,637
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OXgiady 29 178,790,000 14 A& 178,790
= 125,153
[ia 53,637
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< 2,160
e 5,040
307 glz2+ol & 7,200 7,200 0
= 2,160
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| o 16,454
ZOHQ HHEEZ<0 109,109 86,732 22,377
= 54,554
< 21,822
e 32,733
101 @124 dl 109,109 86,732 22,377
= 54,554
< 21,822
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04 JIZHHZ22REES 109,109 86,732 22,377
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[ia 32,733
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= 4,717
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